

## **LKK Auto Consultants Pte Ltd**

LKK Auto Consultants Pte I
51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 5

### ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. YP 3257B

Qty	Description of Parts	Condition	Estimate By Workshop (\$)	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	FRONT BUMPER (WCP)	BENT	490.00	490.00
2	FRONT BUMPER SIDE GARNISH @\$195.00 (WCP)	CUT	390.00	390.00
2	FRONT BUMPER BRACKET @\$110.00 (WCP)	NOT NECESSARY	220.00	-
1	FRONT BUMPER REFORCEMENT (WCP)	NOT NECESSARY	135.00	-
1	FRONT CENTER GRILLE (WCP)	CRACKED	600.00	600.00
10	FRONT CENTER GRILLE CLIPS @\$4.00 (WCP)	NECESSARY	40.00	40.00
1	EMBLEM (WCP)	NECESSARY	60.00	60.00
2	FRONT HEADLAMP @\$370.00 (WCP)	N/S CRACKED / O/S NOT NECESSARY	740.00	370.00
2	FRONT HEADLAMP LOWER SEAL @\$18.00 (WCP)	NECESSARY	36.00	36.00
2	FRONT SIGNAL LAMP @\$160.00 (WCP)	CRACKED	320.00	320.00
2	FRONT SIDE LAMP @\$105.00 (WCP)	NOT NECESSARY	210.00	-
1	CROSSMEMBER (WCP)	NOT NECESSARY	350.00	-
1	INTER COOLER HOSE N/S (WCP)	NOT NECESSARY	115.00	-
1	FRONT PANEL (WCP)	BENT	570.00	570.00
1	FRONT INNER PANEL (WCP)	TO REPAIR SEE LABOUR	480.00	-
1	FUSO (WCP)	NECESSARY	80.00	80.00
1	FRONT WIPER PANEL (WCP)	CRACKED	230.00	230.00
2	FRONT WIPER ARM @\$140.00 (WCP)	BENT	280.00	280.00
2	FRONT WIPER ARM COVER @\$20.00 (WCP)	DISTORTED	40.00	40.00
2	FRONT WIPER BLADE @\$25.00 (WCP)	CUT	50.00	50.00
1	FRONT WIPER MOTOR (WCP)	NOT NECESSARY	400.00	-
1	FRONT WIPER LINK (WCP)	NOT NECESSARY	320.00	-
2	FRONT CORNER PANEL @\$180.00 (WCP)	DISTORTED	360.00	360.00
1	FRONT SIDE MIRROR STAY N/S (WCP)	BENT	260.00	260.00
1	FRONT SIDE MIRROR STAY O/S (WCP)	BENT	260.00	260.00
2	FRONT SIDE MIRROR STAY COVER @\$30.00 (WCP)	MISSING	60.00	60.00
1	FRONT SIDE MIRROR (CIRCLE) N/S (WCP)	MISSING	80.00	80.00
1	FRONT SIDE MIRROR (TRIANGLE) N/S (WCP)	CUT	103.00	103.00
2	FRONT SIDE MIRROR BACK COVER @\$23.00 (WCP)	MISSING	46.00	46.00
1	FRONT WINDSCREEN GLASS (WCP)	BROKEN	600.00	600.00

Report Ref No. CS/LPC21008796/Tqf3e2



# **LKK Auto Consultants Pte Ltd**

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 5

ty	Description of Parts	Condition	Estimate By Workshop (\$)	Our Adjusted (\$)
1	FRONT WINDSCREEN RUBBER (WCP)	NECESSARY	180.00	180.00
2	FRONT PILLAR @\$600.00 (WCP)	BENT	1,200.00	1,200.00
2	FRONT PILLAR INNER GARNISH @\$180.00 (WCP)	N/S DEFORMED / O/S NOT NECESSARY	360.00	180.00
2	FRONT DOOR @\$950.00 (WCP)	BENT	1,900.00	1,900.00
2	FRONT DOOR RUBBER @\$150.00 (WCP)	NECESSARY	300.00	300.00
2	FRONT DOOR OUTER TOP PROTECTOR @\$95.00 (WCP)	NOT NECESSARY	190.00	-
2	FRONT DOOR OUTER SIDE GARNISH @\$25.00 (WCP)	NOT NECESSARY	50.00	-
2	FRONT DOOR POWER WINDOW MOTOR / REGULATOR @\$450.00 (WCP)	NOT NECESSARY	900.00	-
2	FRONT DOOR LOCK @\$250.00 (WCP)	NOT NECESSARY	500.00	-
2	FRONT DOOR HINGE @\$110.00 (WCP)	NOT NECESSARY	220.00	-
2	FRONT DOOR INNER TRIM @\$550.00 (WCP)	N/S DEFORMED / O/S NOT NECESSARY	1,100.00	550.00
2	FRONT DOOR LOWER RUBBER @\$50.00 (WCP)	NOT NECESSARY	100.00	-
1	FRONT DASHBOARD SIDE N/S (WCP)	NOT NECESSARY	110.00	-
1	FRONT DASHBOARD LOWER N/S (WCP)	NOT NECESSARY	280.00	-
1	FRONT DASHBOARD CENTRE (WCP)	NOT NECESSARY	380.00	-
1	FRONT DASHBOARD (WCP)	NOT NECESSARY	1,400.00	-
1	FRONT DASHBOARD INNER PANEL (WCP)	NOT NECESSARY	500.00	-
1	AIR CON BLOWER (COMPLETE) (WCP)	CRACKED	1,050.00	1,050.00
1	AIR CON HEATER (COMPLETE) (WCP)	CRACKED	500.00	500.00
	COST PLUS 15%		2,871.75	1,677.75
			22,016.75	12,862.75
	SPECIAL NETT ITEMS			
1	FRONT ERP BRACKET (SN)	NECESSARY	15.00	15.00
	FRONT NUMBER PLATE (SN)	BENT	25.00	25.00
			40.00	40.00
	<u>LABOUR</u>			
	TOWING FEE.		120.00	100.00
	TO REMOVE, REPAIR, REPLACE & INSTALL FRONT DAMAGED PARTS. INCLUSIVE OF THE REPAIR OF FRONT INNER PANEL.		2,500.00	1,600.00
	TO R&R FRONT CABIN.	NOT NECESSARY	600.00	-

Report Ref No. CS/LPC21008796/Tqf3e2



LESS EXCESS
NETT LIABILITY

### **LKK Auto Consultants Pte Ltd**

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 5

12,950.00

Qty	Description of Parts	Condition	Estimate By Workshop (\$)	Our Adjusted (\$)
	TO R&R FRONT DASHBOARD.		250.00	200.00
	TO R&R FRONT WINDSCREEN GLASS.		120.00	120.00
	TO R&R DRIVER & PASSENGER SEAT.	NOT NECESSARY	250.00	-
	TO R&R AIR CON SYSTEM. TO REFILL & TOP UP AIR CON GAS.		180.00	120.00
	TO REMOVE & INSTALL DOOR MECHANISM AND CHECK FOR FUNCTION.		250.00	120.00
	TO R&R WIRING.		120.00	30.00
	TO WHEEL ALIGNMENT.	NOT NECESSARY	120.00	-
	TO PUTTY & SPRAY PAINTING.		1,100.00	1,000.00
			5,610.00	3,290.00
	GRAND TOTAL		27,666.75	16,192.75

	-3,200.00
	9,750.00

Report Ref No. CS/LPC21008796/Tqf3e2

**RECOMMENDED COST OF LUMP SUM REPAIRS** 

(TO ITS PRE-ACCIDENT CONDITION) (FRONT)

MOHAMAD TAUFIKH

M.MATAI, AMSAE-A
Automotive Assessor

**ADRIAN LING WAI PING** 

B.Eng,AMSOE,AMIRTE,AMSAE-A,M.MATAI

**Licensed Appraiser** 

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.







### **LKK Auto Consultants Pte Ltd**

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:5 of 5

#### ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. YP 3257B

Qty	Description of Parts	Condition	Estimate By Workshop (\$)	Our Adjusted (\$)
	REPLACEMENT OF REAR PARTS			
1	REAR SIDE TAILGATE RH (WCP) (ADDITIONAL)	BENT	1,600.00	1,600.00
1	REAR TAILGATE (WCP) (ADDITIONAL)	BENT	1,200.00	1,200.00
1	FLOOR WOOD (WCP) (ADDITIONAL)	CRACKED	1,200.00	1,200.00
1	REAR SIDE TAILGATE CROSSMEMBER (WCP) (ADDITIONAL)	BENT	600.00	600.00
1	REAR BUMPER (WCP) (ADDITIONAL)	BENT	350.00	350.00
1	MITSUBISHI STICKER (WCP) (ADDITIONAL)	NECESSARY	135.00	135.00
1	REAR LAMP O/S (WCP) (ADDITIONAL)	CRACKED	65.00	65.00
1	REAR END LOCK O/S (WCP) (ADDITIONAL)	BENT	150.00	150.00
	COST PLUS 15%		795.00	795.00
			6,095.00	6,095.00
	<u>LABOUR</u>			
	TO REMOVE, REPAIR, WELD & REPLACE REAR DAMAGED PARTS. (ADDITIONAL)		800.00	700.00
	TO "KWAN YONG" COMPANY LOGO. (ADDITIONAL)		180.00	120.00
	TO PUTTY & SPRAY PAINTING. (ADDITIONAL)		500.00	400.00
			1,480.00	1,220.00
	GRAND TOTAL		7,575.00	7,315.00

	•	
RECOMMENDED COST OF LUMP SUM REPAIRS		5,850.00
(TO ITS PRE-ACCIDENT CONDITION) (REAR)		

Report Ref No. CS/LPC21008796/Tqf3e2

**MOHAMAD TAUFIKH** 

M.MATAI, AMSAE-A

**ADRIAN LING WAI PING** 

B.Eng, AMSOE, AMIRTE, AMSAE-A, M. MATAI

**Automotive Assessor Licensed Appraiser** 

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.